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3. The Question Paper is set in English and translated into Teliigu language. The English version will
be considered as the authentic version for valuation purpose.
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one circle s darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other stray marks. Use of whitener is
prohibited. If used, it will lead to invalidation.
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eg : Ifthe answer for Question No. 1 is Answer choice (2), it should be mafked @8 follows :
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Uise Blue or Black Ball Point Pen anly, failing which your OMR nswer Sheet will be invalidated.
Gel pens/pencils are not allowed. It is not required to darkem the second copy separately.
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An OMR Answer Sheet without the signature of the Invigilator is liable for invalidation.
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DO NOT fold, tear, wrinkle; tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, othegwise youf OMR Answer Sheet will be invalidated.
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Sheet will lead to invalidation.
W-W&wwm,ﬁﬁ,mabm@éwﬂmﬁ&mh
OMR pares Dipsn 080D,

%6 not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
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Before leaving the examination hall, the candidate should hand over the ariginal OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.
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13.

14.

15.

16.

Programming Calculators, Mathematical/Log Tables, Mobile Phones, Bluetooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.
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Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2 Hours. No candidate
shall be allowed to leave the Hall in the middle of the examination under any dircumstances:
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If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.
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Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else,
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As per Memo No. PRRO/-PROPPAN (HO No/3/2019/Mdl-I Dt. 26-7-2019 of the PR & RD
Dept., each wrong answer will be penalized with 1/4th of the marks prescribed for the
question and that would be deducted from their total marks.
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PART A

In 1967, the Supreme Court delivered a

key judgment regarding Fundamental
Right of Indian citizens in this case
!

(1) Minerva Mills vs Union of India
(2) Shankari Prasad vs Union of India
(3) Kesavananda vs Kerala State

(4) Golak Nath vs Punjab State

Justice Srikrishna Commission (2010)

mainly proposed this point in itz sixth

recommendation

(1) Setting up of Telangana Regional
Council with Constitutional status

(2) Separation of Andhra Pradesh into
Telangana and Raylaseema

(3) Status quo in the present position of
Andhra Pradesh

(4) Impositiod of "President’s Rule in
Andhra Pradesh

The Andhra Pradesh Reorganisation Act,
2014 contains

(1) 9 Parts, 16 Schedules and 111

Sections

(2) 12 Parts, 13 Schedules and 108
Sections

(3) 15 Parts, 18 Schedules and 112
Sections

(4) 18 Parts, 21 Schedules and 115
Sections

(4]

. [t
FCA

1967 &' o8 Fho SELE TW)

80D Mo §% S Irged fexd
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| orabendenn JeiRosto

(3) 3§5rs so B3EE avorsson
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4) w0 B8 TESE oS
bilaTenlele

ol (38 Y6 SgEestes ko, 2014 &
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(1) 9 grreen, 16 Gy Dbain 111
ER
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PR
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Bt STy
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Find out the correct statement from the
following with regard to the Attorney
General of India.

(1) He is appointed by the Prime
Minister after consulting the
President of India

(2) He is appointed by the President of

India after consulting the Vice
President :

(3) He is appointed by the President of|

India
(4) He is appointed by the Supreme

Court Chief Justice after consulting}
the Lok Sabha Speaker

According to ‘Johnson’, this is f@n

important feature of human society
(1) Conflict

(2) Dependence

(3) Independence

(4) Integrity

Co-operation, Competition, Adjustment
and Assimilation are the four types of

(1) = Social mobility
(2) Social status

(3) Socialisation

(5)

(4) Social processes

FES werdy  essds iﬁce&o&oﬂ]
BodTedE” HO3S EHETr oBosed
(1) s Tgsdd PoPhods BB

SeeS So@ @ ead$C
Aabibodediart

(2) 4SCHS8Y  HoRbodl ) S
g m@ﬁ{i sl
soDabodeiartd

(3) erEs ﬂ%}&ﬁiﬁ (2 fers
aohihosaiartd

4) &°6e BsE & BoEsods BrTs

o Sy Pes . Tevmrgd
S DADNOBVET D~

A o STRSSSTE
SoopguiEred” 30 el

(1) ofes
(2) esprlSddo

(3) BSOS
(4) PSS

Srsso, e, Wperen  0dd
2OREGE0 63D B GBook), Treolls Ssres

(1) oS riddes
(2) Frowos eodly
(3) olvixsen

(4) Droiv¥ HEaben
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Mahatma Gandhi established this
organisation for fighting against the issue
of untouchability

(1) Backward Classes Seva Sangh
(2) Harijan Seva Sangh

(3) Anubhava Mantapa

(4} Samata Sainik Dal

Find out a movement that is associated
with Dr. B.R. Ambedkar in connection
with a protest against untouchability

(1) Dandi Satyagraha
(2) Champaran Satyagraha
(3) Mahad Satyagraha

(4) Mau Satyagraha

The scheme introduéed. by the Union

Government for providing education to

children with disabilities in 15 — 18 years

age group is

(1) IntemSive Academy for Disabled
Children

(2)  Inclusive Education for Gifted
Children

(3) Integrated Education for Disabled
Children

(4) Integrated  Enlightenment for
Disabled Children

18)

. [C
G )Y S AHEFot St
ol S oo ApboTes
(1) JIDswds Sgo dar vohy
(2) 0=y Hor Sof
(3) eSghs ok
(4) oo pAE &6

o) 5088y o Db
eoBiE, 5 DTroDs etssred’ o8 oo
ook

(1) Sod Sergitro w—"

(2) SJoFES Segiro
(3) 26 Sergro
(4) SrH oo

Sois B408e 15 - 18 Sosdyre Sar
SO Ko woNPEoP Ho hgeH J&sh
©ofotoE IS Se¥o

(1) 3089)5 56 56 d8wod 9,95
(2) FoKred JendEnS 36 A& DeS

@ 3080608 20EsS 36 Aded
D23

(4) 30LIAEE 5865085 355 &8end
D@s
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India has a coastline length of
(1) 7,516-6 kms
(2) 17,5066 kms
(3) 17,5266 kms

(4) 7,536-6 kms

T 1L TehrrDamwas-built on this river

|'

~— 12, The Pink Revolution is felmed-to— <]

13.

(1)  Jhelum
(2) Bhagirathi
(3) Sutlej

(4) Ramganga

(1) Fish production
(2) Egg production
(3)  Manures manufactiiring séctor

(4) Meat and poultr§ processing sector

Identify the eortéct combination of the
rivers and their tributaries in Andhra
Pradesh.

(1} “Wamsadhara — Langulya

(Z) Krishna —  Partha

(3) Godavari —  Kinnerasani

(4) Penna ~  Eleru

(7) - €]

10. &PO6S B D80 HE Op &
(1) 17,5166 3%
(2) 17,5086 3
(3) 17,5266 &
(4) 17,5366 3

11, SEr G & S8 OPHBECO
(1) fod
(2 srisedd
3) »SE
4) (eralion

12. @cd350  (Pink  Revolution) ¢33
Ho2000D58

). IS0 athd

(2) 1060 &g

(3) Yo Saird Soro

(4) Sroido Sdats FY Ewhof Solo

13. eo PRGN Stoeo, T3 ENSSe
Rowolod) HO0H  (correct) rsinarairdy
toBoiod

() So¥gs - ol
@ H5Ha - &Y

3 Rosd - e
(4) 2% - 98-
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14. These types of forests are seen in

15.

16.

Srikakulam District of Andhra Pradesh

(1) Moist Deciduous Forests

(2) Dry Deciduous Forests |
Tidal Forests

(4) Forests with shorn thorns trees

(3)

The Department of Rural Development’s
vision is to :

A, Eradicate rural poverty
B. Secure a better quality of life to the
rural poor

C.  Reduce drudgery
Choose the correct answer,
A only o

oy
-

(1)
(2)
(3)
(4)

A and B only
B and C only
A, BandC

Establishment of Ambedkar Overseas
Vidya Nidhi for the students of Scheduled
Tribes is a part of

(1]
(2)

Public Private Partnership
Obtaining De-centralisation
NABARD's support

Social empowerment process

(3)
(4)

(8)

[€]

14. &0l 338 6D Feowo g BG5S

SEDHO BPeES

1) o9 od, 88 vl

(2) &% og, o8 etye
(3) etuden sEsw

(4)  30HErds 8 dkse

16, A3E3065 b $rd EseSbod DS

(e ee o)
A. prdbes 55857, ArBostio

B, Wrne Do Doeops ~PeasRoes
B Sirerdy) Dyoito

C. 3&do80 shothes

—UPN MSrERSe Bensod.

A Srsd

A o8B0 B Srgd
B Z08din € Srigsd
A, B H8a%» C

(1)
(2)
(3)
(4)

16. 2EmS ahe doppe %o ©08¢) 5

23850 2506 T3 IS grria
(g0es; @ﬂﬁ- g0
J80BEdeass ot

TErsy S5fabo

PO FOTHEHS b [ T

(1)
(2)
(3)
(4)
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17.

18.

~ Gandhi National Rural Employment

19.

The evidence from Andhra Pradesh
suggests that collective empowerment can
support greater accountability for

(1) Rural Development
(2) Service Delivery
(3) Strategic Development

(4) Multi-stage Approach

Along with employment generation, the
performance evaluation of Mahatma
Guarantee Scheme is done by considering

(1) Skills developed
(2) Satisfaction of the employed
(3) Timely payment of wages
(4) Resource mobilisation

For 2019 -20,  budgéted expenditure
of Andhra Pradesh an amount of
¥ B,750 crores was allocated to this

scheme
(1), ¥'SR. Raithu Bharosa
Amma Vodi

Y.S.R. Arogya Sri

Y.S.R. Housing Scheme

(2)
(3)

(4)

(9)
17.

18.

19,

SO0 RSUE ehE eTearSsTdd

SGB PG wo PAF Sxod B
LBETTR0 AIFORITH0N

(1) m‘ﬁ:wﬁéﬁ&@

(2) %80 Bd56 -

B) PP ed5d
(4) DODHE e S

Sosifery el 35556 6rod JoraSBaoes
ritosy S @y 398

SETEETAE & Sowdren &0
0 el SONEaSE D &naegiseo

oW 6T Vot :
Svmp ey~

G Frothidy T0 Sodyy v

(1)
(2)
(3) Fwood’ Isvro 3oy v/

(4 SSthe Dhosdes

€30GS (534 2019 - 20 £3e5 Seravoes’
& 3¢s03 T 8,750 5°ty Seravomrtd

(1)
(2)

Y.SR. 3¢ gBar- -

ey e

(3) Y8R &8 §

(4) Y.S.R S™hoh 36550
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20. A set of figures

21.

carrying certain
characters is given. Assuming a similar
pattern, find the missing character.

El_[5 EL_[E @[3
65 65 7
A = B B B E
(1) 65
(2) 78
(3) 75
(4) T6

If 256™ February, 2005 falls on Friday,
then what will be the day on 25%

February, 2007 ?
(1)
(2)
(3)

(4)

Monday
Friday
Saturday
Sunday

Study the letter-series :
HDYSMWNBQPOCRTBLZVEGUF
Which two neighbours in the given
arrangément are farthest in the
alphabetical order ?

Band Q
Dand Y
Uand F
Vand E

(1)
(2)
(3)
(4)

{10}
ﬂ'

21.

2
208 Seasnd’D Jomymw af PBEPS

oDbES  BOA  ad. e Slate
SSEPAOD TS S0P LHFNod
] [6] [@]__[¢] [al [2]
65 65 7
71 (2] [8] [slHe] L8]
(1) 65
(2) 78
(3) 75
(4) 76

25 212308, 2005 HIET o wowd o

26 2256, 2007 D TS0 @Hod
(1) &Foio
(2) #@HETCo
(3) ¥VT¥o

(4) wsd38o

& (f0b ertsve @) Kodosod

HDYSMWNBQPOCRTBLZVEGUF
> 5056 D Soth ek sof S5
EDind DoHd KOH  ErOES0S
SOACSD ?

(1)
(2)
(3)
(4)

B 5080 Q
D $o8af Yo
U 00 F

V00 E
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23. Find the ]:;ziaaing number in the series.

4,18, O, 100, 180, 294, 448
(1)
(2)
(3)
(4)

28 &% 8

. In a certain code, DESK is written as

#3852, RIDE is written as %7#%. How is
RISK written in that code 7

(1) %725
(2) %752
(3) %TH2
(4) FTH#

In the numbers between 100 to 1000, how
many times does the digit 1 come at the
ten’s place ?

(1) 9

(2) 10

(3) 90

(4) 900

Given (1%+ 2%+ 382 4+ 10%) = 385, then
the value'of (2% + 42 4 62+ 82 + 20%) is

(1) 1540
(2) 770

(3) 1156
(4) 1600

(1)

23.

25.

[C]

SotAswds @36 oD Hoppd
Sodod

4, 18, O, 100, 180, 294, 448

(1) bo
@ 4 s
(3)- 58

e
(4) 60 »

o8 58 ud DSk #8562, encw
RIDE D BTHS v FroLnGHD. esows
RISK 665758 D65 oy

(1)
(2)
(3)
(4

%725
FTH2 v—
G TH2
% THH

SehoorsEnd” 1 €03 JipSiur 100
80K 1000 5% Ko Hoge

(1) 9

(2) 10

(3) 90

(4) 900

26. (1%+ 2%+ 3% .. + 10%) = 385 & a5dos.

oo (22 + 42+ 62482+ 209 =7

(1)
(2)
(3)
(4)

1540

770 4

1155 ¥
600
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27. There is a provision of food in a fort for

1200 soldiers for 60 days. After 15 days,
200 soldiers left the fort. For how many
days will the food last for the remaining
soldiers ? .

(1) 56 days

(2) 50 days

(3) 48 days

(4) 54 days

In the given table, the highest marks and
average marks obtained in a class in
English, Maths, Science and Social
Studies are given for the years 2014,
2015, 2016. Read the data table and
answer the question.

Years 2014 | 2015 | 2016 |

High | 80 | 82 | 7i
English

Average | 70 65 a6

High 94 85 92
Maths

Average | 60 62 68

High 89 95 a7
Science

Average | 70 64 68
Social High 65 66 68
Studies | AGefibe | 55 | 58 | 48

Whatsare the overall average marks in the
four subjects in 2016 ?

(1) 63
2 60
(3) 64
(4) 58

(12)

(€]

27. &5 pIve Seding, 20 1200 Jo8

§ 60 Cero $0F o Holh.
15 S'ro 8078 oF'0 H0d 200 5508
DobeD I, WADS et 2
§'eroth $06F 00D, ‘

(1) 56 Seve

(2) 50 &ero

(3) 48 B'wro

(4) 54 E'ero

o HeIE Jodd wE SOKD Dergpusd
2014, 2015 2016, Solsyres”® Fofiy,
Hediim, “Rai, U5 508 es0s

SrEEReD, T Bty Srdyen  (Average)
goclEra. STVERY 50688900
RArOrSSOey Erohod
oSy E5 2014 | 2015 | 2016
@SR | 80 | 82 | 71
ELTiRY <
Rifen | 70 | 65 | 56
BS08 | 94 85 92
Hedesiin
Sien | 60 | 62 | 68—
e 89 | 95 | 97
£t =
She» | 70 | 64 | 68
w805 | 65 [ 66 | 68
S
St | 55 | 58 | 48 5

2016 S0581508" 4 $Ggos’ 3 Sty
Sy e

(1) 63

(2) 60

(3) 64

(4) 58
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29. In the given table, highest marks and
average marks obtained in a class in
Telugu, Hindi, English, and Maths are
given for the years 2015, 2016, 2017 and
2018. Read the date table and answer the
question, L
Years 2015 | 2016 | 2017 | 2018
High | 80 | 71 | 82 | g0
Telugu
Average| 70 | 66 | 65 | 91
High | 94 | 92 | 85 | 65
Hindi -
Average| 60 | 68 | 62 | 67
High | 89 | 97 | 95 | 77
English
Average| 70 68 64 62
High | 66 | 68 | 66 | 61
Maths
Average| 556 | 48 | 58 | 66
In which year is the difference between
highest marks and average marks (ix
English the maximum ?
(1) 2017
(2) 2015
(3) 2016
(4) 2018
30. Recently this cotntry awarded Prime
Minister MNarendra Modi its highest
civilinn honour ‘Rule of Nishan Izzuddin’,
(1) ¢ Bri Lanka
(2) Maldives
{3) Bhutan
(4) Japan

(13)

'€

29. 200 JgJE Soth wE HOND orytyeH

2015, 2016, 2017 Ockw 2018
SoSthTred® deold, brob, o SHoam
Hedoos” S0y edds Srio, B

Srijyen adpcraw. 5D Sowpoddd
FIGS EHD SMrgrsodosod.

DoddhGsEy | 2015 | 2016 | 2017 | 2018

€98 80 | 71 | 82 | 90
Se’o 505

Shtn | 70 |gs6 P65 | 91

w05 | 94nl 92 | 85 | 65
ol P

Siten 60" | 88 | 62 | 67

OS89 | 97 | 95 | 77
gofi

Sy | 70 | 68 64~ 62}
O esos | 65 | 68 | 66 | 61
8o

Bk | 55 | 48 | 58 | 66

30.

D Bossyes” ofied’ Iy euds
STGyen, mﬁ);&ﬁm%ﬁ@&ﬁ:ﬁm

e a< h

() 2017 L“i‘ o?%’&\
2 2015 ;‘L:\
(3) 2016° G

(4) 2018 —9

B Sood 3805 3rda guise 5: B

oD edyHE 8 PoTo Wrd 6d
RS BEds & Borso 3hod

(1) Zoos

(2) Sr&bdpeo
(3) gorerro

(4) =rS
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31.

32.

In Muzzaffarpur district of Bihar,
children between 2 to 10 years age died
recently. This was ascertained due to this
disease.

(1) Anthrax b
(2) Dengue

(3) AIDS

(4) Acute Encephalitis Syndrome

The two biggest economies in the world
are

(1)
(2)
(3)
(4)

USA and China
USA and Russia
India and Japan
Australia and England

UNESCO/Guillermo Cano World Preas
Freedom Prize 2019 was conferred
on these two Myanmar journalists during
May 2019 by the Director Geseral of
UNESCO.

(1) Tiger Woods and Rakhine

(2) Linda Gareia and? Ana
Lesoska

Wa Lone and Kyaw Soe Oo
Terry Rawlings and Peter Mayhew

Colovie

(3)
(4)

Number of Ministers in Andhra Pradesh
State when new Ministers took oath

'during June 2019 is
(1) 24

(2) 26

(3) 26

(4) 27

(14}
31.

]

b6 orged® seb 376 2erd’ alse:
2 o 10 HoSEhTro Sabin o dgen
B Tl SO SoUeilgdiy
Ardotedod

(1) eoEs,

(2) T@oitry -

(8) Jow&y

@) S 525388 BOE'S
BSotiod” BotySBDE e0E JgSigeo

(1)
(2)
(3)
(4)

. I RoBan Jor
a8, ). Sobcio 5335
Bocolr Sxboty aare
E@Eﬁo‘.ﬁ- 5000 gorros

cbod, /10chgba3w =T 56§ @R
o P& 2019 B D 2019 & WA,
aosh asud SabTbn 3083 & a5
F@Eaived Porso St

Gib &Gy HB TP

S0t oM O eITEIE
Barar,

@) 35D 500w 55 A &

(4) GO ordofy Sbow 2esb iy
esoly (09 O DTG oo g9
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35. The acid that is present in curd is

37.

39.

(1) Acetic acid
(2) Citric acid

(3) Lactic acid
(4)  Amino acid

The vaccine given to prevent Tuberculosis
is

(1) DPT
(2) TT

(3) BCG
(4) ARV

The gases that are responsible for acid
rains are

(1) €Oy, S0, NO,
(2) Og Ny, Cly
(3) Hy, Ny, Op
(4) Cly, CFCs

An abnormal ECG informs about
(1) Heart attack

(2) Liver enlargement

(3) Water in the lungs

(4) Gall bladder defect

Which of the following is used for
computer security ?

(1) Elk Cloner
{2) Firewall
(3) Bridge

(4) Router

(15)
85. 2BNOE Ko esSison

(1) 0836 i3
(2) 26 eaw
(3) o35 sipso
@) IS e

. KO g0 7O 355 FEWBEE de

(1) DPT
(2) TT

(3) BCG~
(4) ARV

- e SOO5 s Cesiodlog raiuen

(1) CO,, 804, NOy

(2)" Og, Ng, Clp

(3) Hy, Ny, O,
(4) Cly, CFCs

orgdes ECG D $rdb 839 ITdodssy
(1)  HoBFen

(2) s*Babo BEIOGSE

(3) &adBSHeS Hw

(4) & erib Socd shn

. 208 ;a:.aé“ 28 Soyrgd #iss So

ESDTHSEE00 ?
(1) Jeﬁ-b %‘65
(2 pb=>d

@ @§

(4) 6
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40.

41.

42,

(16 )

[

The combined Andhra Pradesh State was [40. &3i5d ©ogs 338 ogo & 863 Doy

formed on

(1) 1% November, 1956 )
(2) 1% November, 1953

(3) 1% November, 1954

(4) 1% November, 1955

The headquarters of Eastern Naval|41.

command is at
(1) Cochin
(2) Khandla

(8) Visakhapatnam

(4) Para deep

Consider the following statements - 4.

A. The Portuguese #ook the lead in
discovering the sea route to India.

B. The “blueswater ‘policy” of Almedia
was reversed by “Albuquerque”.

C. Albuguefgue conquéred “Goa” in
16110,

Identify the correct statement from the
above.

(1) Conly
(2) BothAand B
(3) BothAandC

(4) Both B and C

Sabedod

(1) 1355028, 1956
(2) 135350wb, 1953
(3) 1550285, 1954
(4) 135028, 1955

Srtly TSR GBS 0 ddo s
Sodi

(DB S

(2) Dgrocs

(3) Dwpsino

4 Zroe 85

Bod TrigHicvesis 5088ouod ;

A FoAArD  BEnE S
Lofstos” ki oo
Jwodioes Jartod.

B. eddalr aog, e 06 3057
“eansh)” Sror 78 v,

C. ooEf, “o"n 1610 &
2QVOUTHL.

2 TEB0ed 508 T odood,

(1) CaSr@dh

(2) A:S0cin B dosr
(3) A SBaiv CTotr
(4) B J00ay C Sodr




(4) March 1939

The Speakers of the-present Lok Sabha
and first Lok Sabla respectivel y are

(1) Neelam Sanjiva Reddy and Meira
Kumar

(2, G.V. Mavlankar and Sumitra
Mahajan

(3) Om Bi]‘ft_l Hﬂd G.V. Mavlankar
(4}  M.A.S. Ayyangar and Rabi Ray

VSVHA (17 )
43. Mateh the following - 43,
Author Book
A, Haludu . dop i Musalamma,
maranam
B. Nannaya ii. Neetichandrika
C. Paravastu iti. Mahabharata
Chinnaya Suri
D. Cattamanchi  iv. Gathasaptasati
Ramalinga
Reddy
(1) A B-ii  C-iv  Deii
(2) A-i B-i C-iii -~ D-iv
(3) Adii Biv Ci D
(4) Adiv B-fii Ci Dy
44,
Cripps Mission arrived at Delhi in :
(1) March 1942
(2).  March 1941
(3) March 1940

€]
1208 TR HOM a8 SESod
Wiogsy agsain
Al Feneh i. S0Py Do
B. 300 il D8508%
e
C. 833 UGO0 L Sl EEnm
X0
D, S0l iv, CEFRSES
orabdom E!-g

1) Ai WiWoiv Dii

(2) A-i B-i C-iii  D-iv

(3 Aty Biv  C4 D

@ Aiv B Cii D

£ 2355 8 Soss 608" aba Sod
(1) 500y 1942

(2) 570y 1941

(3) 508y 1940
(4) 5r6y 1939

FESY s S0ay e Gt
S ' '

(1) deoo {améaag Sobatn o DirE

(2) 2.2, Ddhoosh Heg o
S )

(3) Lo Ogr o £.9). HJooxs
@ 350.9.9%. wabors ok 58 3
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48. Choose the sentence which 18

1 should ha harder at school.
2 2 e grammatically correct.
Choose the correct option to fill in the (1) Who works in that office 7
hiank. ' (2) Who does worked in that office ?
(1) studied (3) - Who does works in that office 7
(4) Who working in that offiee 7.
(2) study ;
(3) studies 2 49, Choose the correct sequeénce labelled as
PQRS to produce the correct sentence.
() studying and inherent wisdom / the innocence /
(P) Q)
of little children / this highlights
47. Choose the part labelled as A, B, C, D that (R) (8)
l'IE.E an error. {11{ ng@_
At 5:00 this morning / I am having / (2) , QRSP
(A) (B) (B EEGR
(4) RSPQ
a wonderful dream /
(C) 50. The government will open ten new schools
X next year.
but then the alarm went off Choose the correct passive voice form of
m the above sentence.
(1) Ten new schools will open next year
by the government.
$A g (2) Ten new schools will be opened by
w2 B the government next vear.
(3) Ten new schools are opened by the
3) C government next year.
4 D (4) Ten new schools are being opened by

the government next year.
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PART B
51. The scientific name of potato is 51
(1) Solanum tuberosum \
(2)  Solanum melongena -

52.

(3)
(4)

Solanum annum

None of these

Which of the following types of tomato is
to be trained ?

(1)
(2)
(3)
(4)

Determinate
Indeterminate
Both (1) and (2)

MNone of these

Seed treatment is done by to
guard against viral diseases in chillies,

(1) Trisodium orthophosphate

© (2) Imidacloprid

(3)
(4)

Captan

Thiram

Essentiality of plant nutrients was first
explained by the scientist(s)

(1) \ Arnon and Stout

(2) Went
(3) Sorenson
i4) Williamson

562,

& B

ROTPY° (o0 Frald T30
VRS VY
e eosTe
PO DS

26 =t

(1)
(2)
(3)
(4)

e EBP0ope A TELS LSS’
et et

G035

38EL03¢5

(1) Ok (2) Botsr

28 =t

(1
(2)
(3)
(4}

- PON DAL S Hoor DES S B

B08 Saossd
(EFEch0 s rine
RS (&

]

PED

(L
(2)
(3)
(4)

Aoy ef FSPo oIS S
PO D500 T 38

(1)  eome 0ok el

RloTh]

DTS

2DAHoBS

2)
(3)

(4)
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55. Thegraasmeﬂinpadﬂﬂfgreenhuumﬂia

57.

58.

(1) Khus khus

(2) Lemongrass i
(3) Palmarosa

(4) None of these

Piston and crank shaft are connected by
(1) Piston pin

(2) Crank pin

(3) Cylinder block

(4) Connecting rod

Crop Insurance Scheme was started in the
year

(1) 1985
(2) 1965
(3) 1980
(4) 1991

NAFED was institutéd in’ our country
during the year

(1) 1970

(2) 1960

(3) 1968

(4) 1958

What is the enzyme in pineapple ?
(1) Bromelin

(2) Anonain

(3) Both (1) and (2)

(4) None of these

(20)
55. ;‘J‘Eﬁqaﬁﬂﬂsﬁwéea‘aﬁg

(1) PO-PR

@) PG

@) S

@ 28zm

235 S0k Eof AP BSOS
Ah PR

(1) DPD DN

@ EoS ey

@ wEolbers

@ S3%oh &

- Bdotse DT Jooties e HoSE o

(1) 1985
(2) 1965
(3) 1980
(4) 1991

. o8 B¥es T8 Doyen IS

oS80
(1) 1970
(2) 18960
(3) 1968
(4) 1958

. eTRd D JoBn Sod

1) 1S

2 oIS

(3) (1) 508ci» (2) Colar
4 203




VSVHA {21)
60. Propagation ufi}ineapple can be best done | 60,

by type of suckers.

(1) Root

{2) Stem

(3) Crowns

(4) All of these
6131 The witainin svalable- i planty i syl

is

(1) Vitamin D

(2) Vitamin A

(3) Vitamin C

(4) Vitamin B 2.
62. The branches that grow vertically in cocoa

are

(1) dJorquettes

{2) Chupons

(3) Both (1) and (2)

(4) None of these 63.
63. Turmeric belongs to the family

(1) Myrtaceae

(2) Zingiberaceae

(3) Piperaceae

(4) Malvaceae

64.

64. ‘Amchur’ is extracted from the fruit

(1), Mango

(2) Amla

(3) Pomegranate

(4) Pear

[€]

e’ (358550 O bese oo Doto

oo

(1) 3D Desen
(2) srolio oS
(3) o Do¥a

(4) edyohr

ePSaE” JE ST ogkRads DRSS
(1) WS D
(2) Deadom A
(8) s C
(4) DeadodB

S'E°S° Nasdir 2OR T30 DEscerto

(1) ( F6) 50

(2) ) Soaroe

(3) (1) 000 (2)Botir
4 D8 =

S0 @Book;, o
1) g

(2) Sodedn

(B Du8H

@) Srdd

wiErd D Hodh dod SR

(1) Srdod
(2) &b
B oD
(4) Hand
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67.

‘Anardana’ is extracted from the fruit
(1)
(2)
(3)
(4)

Mango
Pomegranate
Guava
None of these

Nitrogen content in 50 kg of Urea is
(1) 18kg
(2) 46 kg
(3) 20kg
(4) 23kg

The disease that occurs in gladiolus is
(1) Collar rot

(2) Storage rot

(3) Both (1) and (2)

(4) None of these

‘China’, ‘Shahi’ are the varieties of
(1) Litchi

(2) Jamun

(3) Guava

(4) None of thése

Seeded (grape varieties are planted at a
distance of

(1)
(2)
(3)
(4)

45 cm x 45 em
27T mx2Tm
45mx45m
None of these

{22)
65.

67.

[€]
VTGS &3 IoEsn D Soth Mod
S T
(1) Srdd
(2) m‘é’.ﬂ‘j;a
@ &%
4 0 =%

50 36°0 OLTOUrE’ Jodn BB dota
18 &&=

46 3&’en

(3 2085

4) 238w
MEIFeRs” 515y ooy
() sof 55

(2) TS &S

@ (1) obain (2) Botir
4 26 s

LI, VT @ D Hokusted
&9

)

el

28 5o

(1)
(2)

(1)
(2)
(3)
(4)

(55" Aoeifo 550 Tréw SFGSn
(1) -4-520.50. x 45 2o.5.
2:7 5. x 27 ®.

4:5 0. x 4-5 2o,
DA =

(2)

(3)
(4)
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T0.

71.

73.

74.

Pinching in marigold is recommended at
days after transplanting for

increasing flower yield.

(1) 40

(2) 45 '
(3) 50

(4) 60

The chemical used in dry flower making is
(1) Lime

(2)
(3)
(4)

Copper sulphate
Borax
None of these

The family of Chrysanthemum is
(1} Asteraceae

(2) Rosaceae

(3) Oleaceae

(4) None of these

The attractive part in Anthurium flower
18

(1)
@)
(3)
(4)

Spathe

Disc florets
Ray florets
All of these

Isolation distance means

(1 .I-"Iunt to plant distance

(2) Row to row distance

(3) Variety to variety distance

{4) None of these

{23)

70.

71.

T2,

73.

4.

'«
208 TS Iy Tere SGTE bodoh
33 re Bl BENDE

(1) 40
(2) 45
(3) 50
(4) 60

Joaire Soirs orh Saratiites
B85

5298 58yl

&30Sy

08 &y

(1)
(2)
(3)

4]

TR0 e tmaD
90

5'8n

LD

D8 57

(1
(2)
(3)

4)
©0878a%0 Hihos® eselah grs
e

SE DT

S¥es DSysTed
Sl lentt

{1}
(2)
(3)

(4)

9 ol SrENn ST

(1) Jesje W Grdsn

(2) Sode S Erosy

(3) USR8 U5R8 Mgy St
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75.

76.

T7.

Rogues in seed production plots are

(24)
75.

removed at LR

(1)
(2)
(3)
(4)

Flowering stage

Ripening stage

Vegetative stage '
All of these

The plant used in the preparation of
Musambaram is

(1)
(2)
(3)
(4)

Aloe vera
Vetiver

Both (1) and (2)
None of these

The structure with multiple storeys made
up of stone in an ornamental garden is

{1) Pergola
(2) Pagoda

(3) Well land
(4) None of these

An example for formal gdrden is
(1)
(2)
(3)
(4)

Persian gardéen
Moghul garden
Both (1)%&nd (2)
None of these

The strueture made by joining arches is
(1)
(2)
(3)
(4)

Pergola

Pagoda
Mask _
MNone of these

76.

77.

79.

: [€]
25T506 BoSewm D 6 SefioTd
(1) Srscs ! i
(2) SEes¥
@) BPHSE
(4) e
Soorrondo SairdS” = dlas, B
(1) !

(2)

Sonod

S¢S

(3) (1) 00cin 2) Josr
W S8z

TS T8808 088 225 wosyos’
W o
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4) 28 =
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(2 oord S

(3} (1) 8oty (2) Codr
4) 28 %

e ef odDE wfd Seopar b
ROEas

1 8o

@ SR

(3) SR,
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80.

Bll

The symptom of downward leaf curl
occurs in chilli due to

(1) White fly

(2) Mites

(3) Spodoptera
(4) None of these

In the hexagonal system of planting, extra
plants to an extent of _____ can be
accommodated as compared to the
corresponding square system,

(1) 20%

(2) 15%

(3) 10%

4) 12%

The best medium for air layering is
{1} Peat

(2) Perlite

(3) Sawdust

(4) None of these

The practice of exposing seed coat to low
temperatures for germination is

(1) Secarification
(2) Stratification
(3) Both (1) and'{2)
(4) Noneof these

T]:u? origin of palak is
(1) Indo-China

(2) Burma

(3) Both (1) and (2)
(4) None of these

{25)

80.

81.

B2,

[€]
Do858" Bod SuEs TDSe Sinss -
(1) Bgfs
(2) 58

@ oPWID
(4)

o8 =
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85. CPRI was started in the year 85.

(1) 1959

(2) 1969

(3) 1949 :

(4) 1960

86.

B86. The power of a healthy human being is

87.

equal to

(1» 1HP

(2) 1-2HP
(3) 0-1HP
(4) 0-5HP

How many banks were nationalised in the
year 1960 ?

(1) 10
(2) 12
(3) 14
(4) 13

Rural Banks were instituted aééording to
the recommendations of

(1) Narasimhan Committee

(2) Sivaraman Committee

(3) Both (1) and (2)

(4) None of these

The potassium dosage for banana is
(1)¢, 300 g

(2)" 200 g

(3) bH0g

(4) 8og

87.

- (3)

CPRI 2 5058508 30065808 |
(1) 1959

(2) 1969

(3) 1949

(4) 1960

&G gHoBoRs ok oD SISl Dot
%88 HErSSL

(1) 1HP

(2) 12HP

0-1 HP

(4) 0-5HP

1969 &9 m@obo Jabeds wobe
08
W
(2)
(3)
(4)

(PaEs 2rgooen JPO B 3055 esotd
ere06°8 Simon

(1) S0 K03

(2 2Soesdd Eoed

(8 (1) 0ok (2) Bodr

(4) 28 s

10
12
14
13

e838" Ferd Jos Irared’ 3ard
(1) 300 ™
(2) 200 v
50 (™

80 [T

(3)

(4)
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90, Th&mt}t.atncl:uﬂadinSitaphaIis

a1.

(1)  Annona glabra
(2)  Annona reticulata
(3)  Both (1) and (2)
(4)  None of these

The state that ranks first in the
Production of sapota is

(1) Maharashtra

(2)

(27)

90,

91.

€]
3008 E 3655 Saresas
(1) &ST mer .
@) eSo s
@ (1) Dbty (2) oy
4 98 s

R D 35 TFred” Buda
(1) ST,

(@) eo 33§

(3 &85 535

Lol

SO SRR 5¢BS® Bocky woky Sesse
5 ETE50 e6eds® Joss

(1) 1m

(2) 2m

(3) 2cm

(4)  1-8em

P 0B Mo @oEd  H
Socotsren

(1) S0

(2)  Dodben

(B)  Oatrey

(4} 350535

SrGSE sarrh G Soe
(1) &hHa

(2) el

(3) eotsed
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856. The product prepared from citrus fruits is

. The organic excretory material from sea

(1) Sauce

(2) Jelly

(3) Marmalade '
(4) N une: of these

The potassium fertiliser used extensively
in our country is

(1) Potassium nitrate

(2) Potassium sulphate

(3) Muriate of potash

(4) None of these

birds is

(1) Perlite
(2) Peat

(3) Guano
(4) Dolomite

The fruit rot of citrus is other#igte known
as

(1) Collar rot

{2) Canker

(3) Both (1) and (2)
(4) None of these

Bract miosaie® of banana is otherwise
known as

(1) Red streak disease (Errabonda)
(2) Apple disease
(3) Both(l)and(2)

(4) None of these

(28)

€]

95. HES @D  Bo&%  a3drAod

BOTas STg80
(6 VIS

(2 &9

@ Sr5o6

(4) 28 =

08 Bdod’ D8I & erBatsD
(1) Seerdheiho PETS
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DOPHRT T o) DScertd
uj:gﬁ

@ heS
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100. How many links are available in a metric 100, 20 Dotog Joeds s’ oy Sotoen

chain of 20 m length 7 SOLTOM
1) 50 ‘ (1) 50
(2) 100 (2) 100
(3) 150 (@ 150
@ 2% (4) 200

101. P'50ed® Dol Sorirdy sl dent oa
101. The tool used to measure flow of water in S S :h

factories is
(1) Weir M Jand
(2) Water meter 2 b Hed
(8) V-notch B o
(4)  All of these 4) e
102. The family of Jamun is 102, JF3& Seowson
(1) Myrtaceae (1) :Ja§:;
(2)  Apocynaceae @ I3
(3) Rhamnaceae @ D‘fun].?::
(4) Rutaceae (D i
103. Fﬂl}}-ﬂu:;lgfjr;;a?mmum in which of the 103, D635 Cﬂﬁbﬁﬁéﬁém
(1) Jamun (1 33
(2) Sitaphal : 2 deseo
(3) Amla (3) &%
(4) None of these @) DA s

104. The chemical used in the preparation of|104- QoL (T°F SarbE” o 5 ahss0

raisins is

(1) 2% NaOH (1) 2% NaOH
(2) 1% NaOH (2) 1% NaOH
(3) 3% NaOH - (3 3% NaOH

(4) 5% NaOH (4) 5% NaOH
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105. The period of First Five Year Plan was

106.

107.

1951 - b6

1956 — 61

1961 - 66 }
None of these

(1)
(2)
(3)
(4)

(30}

(1
(2)
(3)
{4)

105. Boodied Sossy (HeTdE el

1951 - 66
1956 - 61
1961 — 66
D8 =

106. SA0850 S ) voSeres of &

The number of daughter cells produced Eeasion Sood Sy

from a mother cell through meiosis is 1 2

n 2 | 2) 3

(2) 3 (3) 4

4 1 107. ooio§ DHastal 66" docosd
(n QEpes

Zygote is formed in which state 7 '
(2) G008

(1) Haploid .
@, " Bonyds

(2) Diploid 5
1) eReds

() Triploid ¢ 26

(4) Octaploid 108. &35 NG e emdEn 25D
eoer8y

108. The arrangement of flowers in a long vase

is called (1) Jrdayae

(1) Moribana (2) &6

(2) Nageire (3) JIrEIrT

(3) Mormono 4) Boy-ear

(4) Zen-e<bana

108,

The: plant species grown in rockeries is
(1)
(2)
(3)
(4)

Aloe vera
Cactus

Both (1) and (2)
None of these

(1)
(2)
(3)
4)

109. T°8 &S SS508° Dod 3ok,

Yool

eSS

(1) SoBcio (2) Cokir
28 =
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110. The material produced from dioscorea|110. E@TT%,00M" Koode Mok &éE Dby
tubers is DO
(1) Glucose (0 @giﬁ
(2)  Dioegenin | @ &EHEIS
(3) Propane @ @S
{4) None of these @ D8

111. The plant used in the preparation of
111, oSy Sdvren So80k EpeSoirds’

cosmetics and medicines is

(1) Cassia TE Dok,

(2) Aloe vera 1) Po Sond

(3) Tulsi (2) Sowod
@ Son

(4) None of these Y,

112. The origin of papaya is in
112. &30S0 JPision

(1) Tropical America
(D ETHES e

(2) Malaysia
, (2) SDHTupl
(3) Singapore .
3 ﬁ:&_rﬁ
{4) None of these al D
@) D8 s
113. ‘Newspaper’ comes under which of the
following methods ? 118. T°C; HBE &omSer So 5GB B
(1) Group method (1)  rSriry Slats)
(2) Individual method @ Dotods zﬁgﬂ
(3) Both (1) and (2) (3) (1)bcfw (2) Colir
(4) None of these (90 D=z

114. Central Mango Research Station is 4
: 114. Dogd Soof” B8y PK> 5,5 dod
situated at : e 2
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The light required for photosynthesis in
plants is :

(1) Blue + Red light

(2)  Blue + Ultraviolet light
(3) Red light

(4) Blue light

Which of the following vitamins is called
‘Antisterility vitamin’ ?

(1) Vitamin A

(2) Vitamin B

(8) Vitamin C

(4) Vitamin E

Shield budding is otherwise known as
(1) Chip budding
(2) Ring budding
(3) Modified ring
(4) None of these

Which of the following vitamins is
maximum in cowpea ?

(1)  Vitamin A

(2) Vitamin B

(3) Vitamin C

(4) Vitamin D

The word ‘soil’ took genesis from which of
the following languages ?

(1) Greek

(2} German

(3) Latin

(4) French
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120. The material used for reclamation of
acidic soils is
(1) Lime
(2) Gypsum i
(3) Both (1) and (2)
(4) None of these

121. The part useful to engage or disengage the
engine and gear box is
(1) Clutch
(2) Gear
(3) Both(1)and (2)
(4) None of these
122. What type of clutch is available in power
tiller ?
(1)  V-belt tension clutch
(2) Plate type clutch
(3) Both (1) and (2)
(4} None of these

123. The word ‘market’ was derived from
(1) Latin
(2) Greek

(3) French
{4) None of these

124. What is the national fruit of India ?

(1) .Banana
(2). Papaya
(8) Mango
{4) Citrus

({33)

[€]
120. & 00 HIWGGD T8 DG
oy

Eaya0

(1) 08c (2) Bossr
08 5%

(1)
(2)
(3)
i4)

121 76 o8y goehs Seohta IEOAHLS
SSArN 368

5

315)

(1) So0aky, (A Tocir

28 s

(1)
(2)
(3)
(4)

122, 535 068" Duin §5 soi
(1 D-BF 833 55
(2D ¢5 G5 55
(3) (1) DO (2) Bosr
4) 28 s

123, Srdp e od SEEn D e Sod
&c’i'}:)nﬂoﬂ

goeds

A

3 @os

4 0
124. g5 G850 o, erdab Sosn N

(1)
(2)

eatsad

ﬁ‘ﬁnﬂn
arand

Pk

(1)
(2)

(3}
4)



VSVHA

(34 )

125, Which of the following insects pollinates |125.

oil palm ?

(1) Weevil

(2) Rhinoceros beetle |
(3) Black-headed caterpillar

(4) None of these

126. Which of the following is called the King|10g

of Spices ?

(1) Clove

(2) Cardamom
(3) Methi

(4) Black pepper

127. Khatte disease occurs in the following | 127.

crop :

(1)
(2)
(3)
(4)

128. The hybrid variety of coconut released by
Coconut Research Station; Ambajipeta is

(1)
(2)
(3)
(4)

129, TSS is determined by
(1

{2)

(3)
(4)

Ginger
Black pepper
Turmeric
Cardamom
128.

Godavari Ganga
Gautami Ganga
Double Century
All of these

129,
el meter

Hand refractometer

pH meter
None of these
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130. The gas released from biogas method is
(1) Oxygen
(2)  Carbon dioxide

(3)  Both (1) and (2)
(4) None of these

131. The nitrogen content in DAP is
(1) 18%
(2) 46%
(3) 20%

(4) 23%

132. Club root disease in cole crops is due to

(1) Bacteria
(2) Fungus
(3) Virus

(4) None of these

133.
is
(1)
(2)

(3)
(4)

Powdery mildew
Anthracnose

Both (1) and (2)
None of these

134, Theh:mluaﬂﬂtuchangeﬂnwdirecﬁmwin

a canal m
Water meter
Weir
Both (1) and (2)
None of these

(1)
(2)
(3)
(4)

The main disease in cucurbitaceous erops
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(2) 48%

(3 20%

(4) 23%

5 ERo ESS reS Broey 82 Sos
S50y

(e 30ate

@ 3bopssn
@ J55
4y D8 =H

183, SHEHOXNL  Sod  Hngomr 53

Sioen

(1) erds ahe

(2) soEsH’d

(8) (1) Sobdaxy (2) Botie
4 D8 =&

134. Sous8® 5o 88D W60t od

PSS

1) T8t Jotathd

(2 Jabhe

(3) (1) o0t (2) Bosr
[4) 28 =%



VSVHA (36) S
135. The bitterness in leaves and seeds of|135. D BSlage iy g:rﬁ’iﬁﬂo esen  SoBdio

custard apple is due to the presence of Rozsed” &odiny 5o 360 oo dotisss
1) Aoty (1) &SRS
(3) Annona i

(3) sIo

(4) None'of these :
4 28 =en

136. The passion fruit variety that can give |136. J535 Qroecliy Trdoss $e30E5°3
higher yield and is resistant to diseases is g0 (HT7e5 oEsa

(1) Red (1) B

(2) Purple @ &

(3)  Yellow . 3 3%

(4) Purple and Yellow @) AimEOah S
T 187. TEGCIRSD (5555 s

137. Gladiolus is propagated by :

(1) Cuttings WP =003

(9) | Copis 2) oS

(3) Suckers @  Dose

(4)  All of these @ eDohr

138. D:pobstes wsm 33

138. Emasculation means 1 g&;%m Folochis

(1) Removal of flowers

(2) Removal of stafens 2) SHocen FoRothis
(3)  Removal of biids (3) Dol Fohoms
(#) " HNone of g5y 4) O =k

139. SSCA &35 320
189. SSCA fieans

- -t
(1) State Seed Corporation Agency M 36 of 8355 Dady
(2) " State Seed Certification Agency @ RS BE 535S Deady
(8) Both (1) and (2) 3 (1) 2B (2) Botr

(4) None of these

@ 58 =&
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140. The chemical used against rats is 140.- o050 Drdeth 278 SR,
(1) Bromodiolone (1) (FIrsEcods
(2)  Aluminium phosphide (2} eargdanoe 3‘3{35
(3)  Both (1) and (2) ' (3) (1) Db (2) Boesy
(4] None of these 4 28 =% -
141. The  Insecticides Act was first|141. VIO Soote Sg0 et S
implemﬁntedhthﬂ_ﬂ'ﬂr E'Jo:lé_-j{f-o AR
(1) 1968 (1) 1968.~
(2) 1960 (2) 1960.~
(3) 1970 3 1970
(4) 1972 (4) 1979
142. The father of Apiculture is 142. 33 e WoIE e 25
(1) Dr. AS. Atwal 1 oo 5. &93‘36
(2)  Ramesh Arora (2)y Gl @50 .
(3)  Gupta @3, g
(4)  None of these W D8 =
143. Light is measured for greenhouses in W o8 RS 5080 ;Dt‘;iom Senae
(1) Brix R e : P
(2)  Joules . @) e
@ 3) o
- 4 28 = :
(4) None of these :
144. I36e es5 oY), S oF ;0
144, The main aim of extension education is 1) [ See HQ;SJQ
(1) Dewrelupment of peaple (2) Ses ﬁﬂﬁgﬂ
(2) Activation nf péople (B |Peed® m{}
(3) " Change in people 4 D8 s
(4) None'of these X s e g
il 145. 8 e Hod 2 Iovedrossts
145, The udn;anl:;l catered in the schools and FOMDNEFD DiN0ems 1
1 8 ! SR
HI;M;‘?rn:aI_edunatiun e 253 ¢}
(2)  Informal Edu:ﬁtinn @ edans =g SIS
(3) Extension education @) 5% ‘n‘jﬁ
(4) None of these @ D8 s
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148. The word ‘horticulture’ was derived from
(1) Greek
(2) French
(3) English !
(4) None of these

147. Vitamin A content in papaya is
(1) 2020 1IU per 100 g
(2) 4800 IU per 100 g
(3) 1000 IU per 100 g
(4) 6450 IU per 100 g

148. The medium that can absorb moisture
heavier than its own weight is

(1) Vermiculite

(2) Sphagnum moss
(3) Perlite

(4) Sand

149. IBA is otherwise known as
{1) Flowering hormone
(2) Rooting hormone
(3) Both (1) and(2)
(4) None ofthese

150. In which<of the following States is
maximum  area under  vegetable
cultivation ?

(1) West Bengal

(2) Tamil Nadu

(3) Andhra Pradesh
(4) Uttar Pradesh

<]
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(S VI

@ Pov
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147, Fryond” 6ol DS A 85

(1) 2020 IU per 100 g
(2) 4800 IU per 100 g
(3) 1000 IU per 100 g
(4) Eﬁﬂ_[ﬂ per 100 g

148, 5 2505, Sod 5 WD 20nfD

;’&J‘dﬁa;im
1) 355';5}53535
(2) "y IR
(3) oS

-
(4) Fob

149, 1BA & 508038 &0
(1) $300R FTyw
(2) &redoR S
(3) (1) S5obcio (2) Sokr
(4) 26 e

160, ) ogod Sromanes s dgod’

SS0ton B0
(1 3y BorrS

2) ST

(3) o 06

(4) &85 B8



	img680.jpg
	img681.jpg
	img682.jpg
	img683.jpg
	img684.jpg
	img687.jpg
	img688.jpg
	img689.jpg
	img690.jpg
	img691.jpg
	img692.jpg
	img693.jpg
	img694.jpg
	img695.jpg
	img696.jpg
	img697.jpg
	img698.jpg
	img699.jpg
	img700.jpg
	img701.jpg
	img702.jpg
	img703.jpg
	img704.jpg
	img705.jpg
	img706.jpg
	img707.jpg
	img708.jpg
	img709.jpg
	img710.jpg
	img711.jpg
	img712.jpg
	img713.jpg
	img714.jpg
	img715.jpg
	img716.jpg
	img717.jpg
	img718.jpg
	img719.jpg

